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Let f(x) = —3x + 1 and g(x) = 10x — 4. Find the indicated value.
13. xwhen f(x) = —17 6 15. f(—20) 61

Graph the function. Write a linear function that satisfies the given conditions.

21 gx) =4x—4 . r(—9) = — = —
27. r(-9) 7, 1(0) lmd=§x—1




A system of linear equations, or simply a linear system, consists of two
or more linear equations with the same variables. Below is an example.

y=2x—'4 Equation 1
y=—-3x+1 Equation 2

A solution of a linear system in two variables is an ordered pair that is a
solution of each equation in the system. A linear system has a solution at
each point where the graphs of the equations in the system intersect.




m Solving a System of Linear Equations
%

Solve the linear system: y = 2x — 4 Equation 1
y=-3x+ 1% Equation 2
1) Graph the equations. AP 3
2) Identify the apparent intersection \ fy= 21,‘ =7
point, (1, —2). - | g
. i ; BN A 3 €36 ] ‘x'
3) Verify that (1, —2) is the solution of = ——
the system by substituting 1 for x 2 W )
and —2 for y in each equation. ~—|—y \ s J(
RE o
Equation 1 Equation 2 l Y5 1 H+1
y=2x—4 y=-3x+1 :
5 o) — 4 —2% -3(1)+ 1
—2=-2/ —2=-2/
| Answer The solution s (1, —2).
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Tell whether the ordered pair is a solution of the linear system.
8. (4,2);

y= —b5x + 22

y=8x—30




Solve the linear system by graphing.

14. y=2x—1 18. x+y=—7 20. 3x + 2y =8
sty — 5 y=x+3 4y =16 — 6x
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22. Vacation Rentals A business rents in-line skates and bicycles to
tourists on vacation. A pair of skates rents for $15 per day. A bicycle
rents for $20 per day. On a certain day, the owner of the business has
25 rentals and takes in $450. Using the verbal model below, write and
solve a system of equations to find the number of each item rented.

Pairsof . Numberof _  Total
skates T bicycles ~ rentals
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